Index Plungers - Pull Grip rdex Plunger &

non-locking

i dy - 7 ke =
i i '!‘
AF I ds * = é’
i  § >
W s ey - g
Lholde e =
T
32700 2
Fy d lock nut sold separately =
LT I R 65690 or 65692
F
1 l"'d1-1
with grip no grip
Material Technical Notes
Free cutting steel type- ~Non Locking” type- pin simply springs Lock nuts sold separately See Products
Body: free cutting steel, blackened. back when pull ring relased. 65690 and 65692
Pin: steel, hardened. Thread recess on body allows full engage- Tips
Grip: thermoplastic PA6, black. ment of thread length. Hexagon collar P
. . . . Grip non-removable.
Stainless steel type - improves leverage for secure installation. Spring loads * = statistical averae
Body: stainless steel 1.4305 (AISI 303). Without grip temperature resistance up to prng ge.
Pin: stainless steel 1.4305 (AISI 303), 250°C.
nickel plated. Distance collars no. 32750 can be used to
Grip: thermoplastic PA6, black. adapt screw length.
Order No. Type Material d, d, d; d, I, I, I3 I, lg lg A/F Springload Springload Weight
-0.02]-0.04 = min. min. Fi Fs g
N N
32700.W0005 With Grip Steel 5 M10x1,0 21 450 5 17 5 15 12 6,0 14 19,0
32700.W0006 With Grip Steel 6 M12x1,5 25 545 6 20 6 17 14 5,3 13 31,0
32700.w0008 With Grip Steel 8 M16x1,5 31 690 8 26 8 23 19 11,5 28 71,0
32700.w0010 With Grip Steel 10 M20x1,5 31 80,0 10 33 10 30 22 23,0 54 115,0
32700.W0025 No Grip Steel 5 M10x1,0 M 5 5 17 5 6 15 12 6,0 14 14,0
32700.W0026 No Grip Steel 6 M12x1,5 M 6 6 20 6 10 17 14 5.3 13 23,0
32700.W0028 No Grip Steel 8 M16x1,5 M8 8 26 8 12 23 19 115 28 54,0
32700.w0030 No Grip Steel 10 M20x1,5 M 8 10 33 10 12 30 22 23,0 54 79,0
32700.W0405 With Grip Stainless 5 M10x1,0 21 450 5 17 5 15 12 6,0 14 19,0
32700.W0406 With Grip  Stainless 6 M12x1,5 25 545 6 20 6 17 14 5,5 13 31,0
32700.W0408 With Grip Stainless 8 M1l6x1,5 31 690 8 26 8 23 19 11,5 28 71,0
32700.W0410 With Grip Stainless 10 M20x1,5 31 80,0 10 33 10 30 22 23,0 54 115,0
32700.W0425 No Grip  Stainless 5 M10x1,0 M 5 5 17 5 6 15 12 6,0 14 14,0
32700.W0426 No Grip ~ Stainless 6 M12x1,5 M 6 6 20 6 10 17 14 5,5 13 23,0
32700.w0428 No Grip  Stainless 8 M16x1,5 M 8 8 26 8 12 23 19 115 28 54,0
32700.w0430 No Grip  Stainless 10 M20x1,5 M 8 10 33 10 12 30 22 23,0 54 79,0

WB Wixroyd 0333 207 4497 sales@wixroyd.com 1

AN ESSENTRA COMPANY



